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QUESTION 1

Your client wants to build multi-component sections such that students can select from any built non-graded laboratory
sections in a course regardless of the graded lecture that they are enrolled in. How would you achieve this?

A. Make sure that the Associated Class number is the same across all lectures and laboratories.
B. Set the Associated Class number on the lecture to 9999 and increment it on the laboratories by one for each section.

C. Keep the Associated Class number for the lecture sections at the default value and set the Associated Class number
for the laboratory sections to 9999.

D. Build the sections as separate graded class sections and have the students enroll in the classes separately.
E. Set up auto-enroll for every lecture section so that students are automatically enrolled in a laboratory section.

Correct Answer: B

QUESTION 2

Your client wants to set up enrollment security so that administrative users can enroll students only in classes that fall
under their Academic Organization (that is, a user can enroll students in English classes but not Business). Which
action would you take to ensure that this security is implemented as specified?

A. Limit each user\\'s Academic Organization access by using row-level security.

B. Modify an employee\\'s Security Views by using row-level security.

C. Create Enrollment Access Groups for each group of staff members, specify the appropriate Academic Organization,
and assign the group to each staff member by using row-level security.

D. Create and set a new value restricting an employee\\'s Transaction Security under row-level security.
E. Restrict each user\\'s access to the Schedule of Classes and Course Catalog pages by using a permission list.

Correct Answer: C

QUESTION 3

Your client has a multi-institution setup. Both institutions have a course with the same name, but should be managed
separately between the two institutions because the setup between the two is completely different. What should you
do?

A. Create one course ID with multiple offerings.

B. Create one course ID with multiple components.

C. Create two separate course IDs.

D. Create one course ID and multiple class sections for each institution.
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E. Create one course ID with multiple course attributes.

Correct Answer: C

QUESTION 4

Your client has created prerequisites by using the Enroliment Requirement Groups functionality. At what level in the
course structure should the Enrollment Requirement Group be attached for the prerequisite to take effect during
enrollment?

A. At each component level

B. At the offering level

C. At the milestone level

D. At the Enroliment Requirement level

E. At the Course List level

Correct Answer: D

QUESTION 5

A class at your client s institution requires a student to enroll in a lecture and one laboratory from a selection of two
laboratories. An exception arises in which a particular student should be permitted to enroll in a third laboratory outside
of the initial selection criteria specified by the class. How should you achieve this exception while still ensuring that
some record is kept in the system?

A. Enroll the student administratively by using Quick Enroll and select the Requirement Designation override.

B. Enroll the student through the administrative Enrollment screen.

C. Enroll the student administratively by using Quick Enroll and select the Permission override.

D. Enroll the student administratively by using Quick Enroll and select the Class Links override.

E. Enroll the student administratively by using Quick Enroll and select the Requisites override

Correct Answer: A
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